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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper is divided into two parts — Part A and Part B.

(iti) Part A is compulsory for all candidates.

(iv) Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

(v) Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
(vi)  Questions no. 17 to 20, 31 and 32 carry 3 marks each.
(vii) Questions no. 21, 22 and 33 carry 4 marks each.

(viit) Questions no. 23 to 26 and 34 carry 6 marks each.

(ix)  There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

PART A

(Accounting for Partnership Firms and Companies)

1. Assertion (A) : Interest on bearer debentures is paid to a person who
produces the interest coupon attached to such debentures.

Reason (R): Bearer debentures are debentures which can be
transferred by way of delivery and the company does not
keep any record of the debenture holders.

Select the correct answer from the following : 1

(a)  Assertion (A) is correct, but Reason (R) is wrong.

(b) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of Assertion (A).

(e) Both Assertion (A) and Reason (R) are correct and Reason (R) is

the correct explanation of Assertion (A).
(d)  Both Assertion (A) and Reason (R) are wrong.
67/C/2 ~~~~ Page 3 P.T.O.
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() . @ fafies 7 9.H. fdfies @ 7 90,000 1 wEGE W=,
T 1,80,000 & HEATET IIHE qAT T 20,000 HI SIARAT i
T 3,60,000 % T Tk W foram | .4, fafies 1 YA T 50
T o 9% TG i 10% 9 W Fifg ot o mn | Srome
forto &g @’ & 99 vet |, WdHl i e qfyr ge

(a) ¥ 36,000 (b) ¥ 40,000
(c) T 27,000 (d ¥ 90,000
YT

(i) Ton fafes 3 vt fAfies @ T 25,00,000 6t wefi=st <1 67 fopam | vt
e =1 T 10 % & Twar 3 1 25% Hifew | Fifia s
A foham T | Har ofEn % fm W wfayfd hifem = @ %

9T 9&7 ° Wil sk S greft afst et
(a) T 25,000 (b) T 50,000
(¢ T 62,500 (d ¥ 5,00,000

W, A T s BH W GEER I qAT 5 : 3 : 2 % A H ATY-GIH died
J | I|H A9 H i aqrT % faIT T i T @ GrEer a9, ek fou
A T A 2:1:2 %% UM H AW TR | Al H @ W 1 A= 9T B0

2 3
3 4
(C) E (d) 2—0

T qUT A TH BH | AIPER 9 991 IS S ISt T 45,000 ot | S B
asmﬁéwmasmw@@wmm|wma@%m
T 60,000 AT | BH o AW H TR’ o W qAT 3Gh! 511 oh TWEH o IR
Wﬁﬁ@lﬁﬁ“’ﬁ:

(a) ¥ 1,80,000 (b) ¥ 1,50,000

(© ¥ 30,000 (d ¥ 90,000
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1) K.C. Ltd. took over office furniture of ¥ 90,000, office equipment of
T 1,80,000 from J.C. Ltd. and its liabilities of ¥ 20,000 for a
purchase consideration of ¥ 3,60,000. The payment to J.C. Ltd.
was made by issue of 9% debentures of ¥ 50 each at a discount of
10%. The amount to be debited to ‘Discount on Issue of Debentures
Account’ will be :

(a) ¥ 36,000 (b) ¥ 40,000
(c) T 27,000 (d ¥ 90,000
OR

(i)  Raja Ltd. purchased machinery for ¥ 25,00,000 from Sharma Ltd.

The payment to Sharma Ltd. was made by issue of equity shares of
% 10 each at a premium of 25%. The amount to be credited to the

‘Securities Premium Reserve Account’ on issue of equity shares

will be :
(a) T 25,000 (b) < 50,000
(¢) T 62,500 (d) < 5,00,000

C, D and E were partners in a firm sharing profits and losses in the ratio
of 5 : 3 : 2. They admitted F as a new partner for i share in the profits
which was sacrificed by C, D and E in the ratio of 2 : 1 : 2. C’s new share
in the profits will be :

2 3
3 4
(C) E (d) 2—0

X and Z were partners in a firm with capitals of ¥ 45,000 each. They
admitted Y as a new partner for érd share in the profits of the firm.
Y brought ¥ 60,000 as his capital. Based on Y’s share in the profits of the

firm and his capital contribution, the goodwill of the firm will be :

(a) < 1,80,000 (b) < 1,50,000
(e) < 30,000 (d) < 90,000
~~~~ Page 5 P.T.O.
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SR qA Sffed T BH H WG ¥ | 31.03.2022 I GHIH FU 9Y H Sfiad |
30.06.2021 ¥ I& HTh Jfd A8 T 5,000 T AW fhAT | ARIGH dor@ §

IR W 12% AT ¢ F AT @ T TGEH o7 | Siad & oA AW T
11 <hl T o foTU 3ftEd Wig <kl g '

(a) 6HEM (b) eéﬂéﬁ
(c) 4%14%“1% @ 5HEN

MR T 40,000, AW HT A T 24,000 dA Faw Hi T Al IS
T 32,000 HT FHEINH HH 6 9991q.31.03.2022 I Th HTEIER 3TMh hl Yft
T 5,00,000 off | 01.04.2021 ! IThHT YSft off :

(a) T 4,84,000

(b) T 5,16,000

(c) T 4,46,000

d T 596,000

Teh HTSIGRT BY o foeed o THY BY s J&aehi H fafae ¢Ier @Td ¥ T 45,000
1 JAT I R TGGH @d H T 8,000 1 39 o1 | fafaw R @1 =t &g
H o foTu ‘aeeht @1’ o W g& | @t i W arett iRt g

(a) T 45,000 (b) ¥ 37,000

(c) ¥ 8,000 (d T 53,000

T@ qe Y UH BH b WEIER I qAT 3 : 2 h UG H ATY-FIH died o |
38 I HH H TH T TR TR | ) YW W g T TG HON
foTT = 7,000 1 T@LH o1 | G RN o fAC T 3,000 ARG hd i FHol
o T | WY SR 798 WY U | 39Yh Q@i % foTT YA @Td %
T /S uet | ot w8 wiy gef o

(a) 9™ T 3,000

(b) ST T 4,000

(¢) ™ T 7,000

(d) T T 4,000

~~~~ Page 6



5. Josh and Jeevan were partners in a firm. During the year ended
31.03.2022 Jeevan withdrew < 5,000 per month starting from
30.06.2021. The partnership deed provided that interest on drawings will
be charged @ 12% per annum. The average number of months for which

interest on Jeevan’s total drawings will be charged is : 1
(a) 6 months (b) 6 % months
(c) 4 % months (d) 5 months

6. After doing the adjustments regarding drawings ¥ 40,000, share of profit
T 24,000 and the additional capital introduced ¥ 32,000, the capital of
Ashok, a partner, as on 31.03.2022 was ¥ 5,00,000. His capital as on
01.04.2021 was : 1
(a) T 4,84,000
(b) ¥ 5,16,000
(c) T 4,46,000
(d T 5,96,000

7. On the dissolution of a partnership firm there existed a balance of
T 45,000 in Sundry Debtors Account and a balance of ¥ 8,000 in
Provision for Bad Debts Account in the books of the firm. The amount by
which ‘Realisation Account’ will be debited for closing Sundry Debtors

Account will be : 1
(a) T 45,000 (b) T 37,000
(c) T 8,000 (d) ¥ 53,000

8. S and T were partners in a firm sharing profits and losses in the ratio of

3 : 2. They admitted U as a new partner in the firm. On U’s admission
there existed a provision for bad and doubtful debts of ¥ 7,000. It was
decided to write off ¥ 3,000 as bad debts. The remaining debtors were
considered as good. The amount to be debited/credited to Revaluation
Account on account of the above treatment will be : 1
(a)  Debit T 3,000

(b)  Credit T 4,000

(¢)  Debit T 7,000

(d)  Debit T 4,000

67/C/2 ~ Page 7 P.T.O.



9. @ ‘m’am‘@’wwaaq@mm%’ﬁ%masm@wm
ST TR | ‘%’ﬁaﬁmw%m‘lﬁ’ﬁamﬁﬂﬂm‘gﬁ’ﬁw

fearm |

& qe S w1 A AU o

(a) 1:2 (b) 1:1
() 16:9 d 2:1

HAAT

(i) T, S qun Y THh BH b HEER A AT 5 : 3 : 2 % UM H Y W
g1 hT Ta9SH a9 | 01.04.2023 @ o &9 Ud B hl SUET-SeK
fauisia s o e wgad gu | a-fawse Sdd | 9iEdd & R,

Y 1 sty = < g

(a) ST 1 (b) M 1
30 30
5 4

(c) ATy — (@ ©m —
30 30

10. (i) Y qen €Y WiEer 9 | WiEiel 9@ % WEdH % SAER 31.03.2022
! TETH g a¥ o foqu S At ISt W =AW A AT T 4,000 FHE
g faf=se @ 8 Y A G W =S H gaa s

ATageh UsimH=n gfafse gt :
(a) VB s @@ 9™ T 4,000

& w1 IS @ T 4,000
(b) «HEH S @@ 9™ T 4,000

& I IS W =S @ T 4,000
(0 WA GIWRAS @@ T80 T 4,000

S| RS ICRCIERISCRCIG]) T 4,000
(d) «uE afEsm e 9™ T 4,000

S =1 =Te @At T 4,000

YT
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9. ) C and D were partners in a firm. E was admitted as a new partner
for % share. E acquired %rd of his share from C and the remaining

from D. 1
The sacrificing ratio of C and D was :

(a) 1:2 (b) 1:1
(c) 16:9 d 2:1
OR

(i) A, B and C were partners in a firm sharing profits and losses in
the ratio of 5 : 3 : 2. With effect from 01.04.2023, they agreed to

share profits and losses equally. Due to change in the profit

sharing ratio, B’s gain or sacrifice will be : 1
(a) Gain = (b)  Sacrifice —
30 30
.5 i 4
(c) Gain — (d)  Sacrifice —
30 30

10. () B and D were partners. According to the provisions of partnership

deed, interest on B’s capital for the year ended 31.03.2022 was
calculated at ¥ 4,000.

The necessary journal entry for transferring interest on B’s capital

to Profit and Loss Appropriation Account will be : 1
(a)  Profit and Loss Appropriation A/c  Dr. ¥ 4,000

To B’s Capital A/c T 4,000
(b)  Profit and Loss Appropriation A/c  Dr. ¥ 4,000

To Interest on B’s Capital A/c < 4,000
(c) Interest on B’s Capital A/c Dr. ¥ 4,000

To Profit and Loss Appropriation A/c T 4,000
(d)  Profit and Loss Appropriation A/c Dr. ¥ 4,000

To B’s Current A/c < 4,000

OR

67/C/2 ~ Page 9 P.T.O.



(i) & qAT TA TH BH % AEGR I | ITh AECH Ho@ § HEGR %
HTEOT T 12% a1 AT G H SIS T 61 TE9M o1 | 31.03.2022
! GHTH gL a9 o 7T TA o TGO W AN h AT T 900 hl T3 |

‘A o MW W IS A 6l 39Tk U= Ifafse grft -
(a) ow-gr fafoeiem @ 9 T 900

JATET0T W ST Gl T 900
(b) TR W AT Gl IH T 900

Q&N TR CIERISERCIG) T 900
(¢) ‘T’ w1 Uit /=me] @rar Im T 900

JATET0T R ST QT T 900
(d) AT YT ITS Wrdl daH T 900

TSR T il /=Te] @rar Z 900

1. () O o uh e % wEer 9 | I wd % oy § % ar % forw
! Teh 991 ITiel /=T | HY 3 399 9 1 Afewger © § foma | v
T ‘T R AT 9T B

(a) (b)

(c) (d)

Wl N+
[P ) S N

JrET

i) I, F qA O TH BH % GEER ¥ | 31.03.2022 F AW H I
B S | A o AT T SRR fY 9 o foran | wH % ol | A o
:R?IT?WT‘@TIT:

(a) (b)

(c) (d)

D= ol
BN W
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(i)

(i)

K and L were partners in a firm. Their partnership deed provided
that interest on partner’s drawings will be charged @ 12% per
annum. Interest on L’s drawings for the year ended 31.03.2022 was
calculated at ¥ 900.

The necessary journal entry for charging interest on L’s drawings

will be : 1
(a)  Profit and Loss Appropriation A/c Dr. ¥ 900
To Interest on Drawings A/c T 900
(b)  Interest on Drawings A/c Dr. ¥ 900
To Profit and Loss Appropriation A/c T 900
(c) L’s Capital/Current A/c Dr. ¥ 900
To Interest on Drawings A/c T 900
(d) Interest on Drawings A/c Dr. ¥ 900
To Partner’s Capital/Current A/c < 900

A and B were partners in a firm. They admitted C as a new

partner for %rd share in the profits of the firm which he acquired

from A. A’s new share in the profit will be : 1
1 1
- b -
(a) 2 (b) 1
1 1
d d d
(c) 3 (d) 5
OR

P, Q and R were partners in a firm. On 31.03.2022, R died. R’s
share was taken over by P. P’s new share in the profits of the firm
will be : 1

(a) (b)

N[ Wb

(c) (d)

BN W

~~~~ Page 11 P.T.O.



(i)

(i1)

T g o E1Y HIEER] H Yo i dTel ARl i sATehiTd &9 H Hal
Gl'l?ﬂ%:
(2) TR (b) HGE
(© wd (@ @
terar

HY TR T T BH | ATeiGR off G 3 : 2% U § A9 T &TH o
o et off 1 31.03.2023 1 GHTH B9 9T 99 I YA famTEl &
3@ T WY 4 T 20,000 HT TG hAT | TGN W 6% MYk g T ST
TG fohaT ST o7 | A o TR0 W A BT

(a) ¥ 3,000 (b) ¥ 2,400
(c) T 1,800 (d T 4,800

HETleTiga #ieai4e [E1a &1 91T 37k 3ad & T3 =1 & TR T 97 &7 13 97
14 & 3T Ffaw |

1 3, 2022 i S0 e 3 T 100 I3% & 5000, 8% RUTIHT <hl
5% Hiftrm W i fopen Rer mem 3 awt & wvem. 109 Hifem w e
e |

31 W=, 2023 ! THIH BH 1t 99 H KOG R ¢ SIS <hl el TRT BAIT

13.

14.

15.

67/C/2

(a)
(c)

< 40,000 (b) ¥ 25,000
< 50,000 (d ¥ 75,000

SFROTAT % A W R @I o A 9§ e W E R Tf o w2l 2

(a)
(c)

T 75,000 (b) ¥ 40,000
T 50,000 (d ¥ 25,000

fafafiga 9 9 forg fafa 0 v w8 & sggam 1 fagea e g 78 e
7T 8 2

(a)
(b)
(c)
(d)

I IS HIEICR YA Bl ST

¥t |reIeRi shi STAfd 9§

S IS Uh ETSIER TR &Y § A fiedl sl qfd i H e & Y
IS hls ATSGR U o fIT Tque 81 3R 36k HRU FH o Fa8@E T
fqoiia gwe s @ |

~~~~ Page 12
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1) Persons who have entered into partnership with one another are
individually called as :
(a) Partners (b) Members
(c) Firm (d)  Owners

OR

(ii)) Madhu and Radha were partners in a partnership firm sharing
profits and losses in the ratio of 3 : 2. Madhu withdrew ¥ 20,000 in
each quarter during the year ended 31.03.2023. Interest on
drawings was to be charged @ 6% p.a. Interest on Madhu’s
drawings will be :

(a) ¥ 3,000 (b) ¥ 2,400
(c) T 1,800 (d ¥ 4,800

Read the following hypothetical situation and answer questions number 13 and
14 on the basis of given information.

13.

14.

15.

67/C/2

On 15t April, 2022, Zaira Ltd. issued 5000, 8% Debentures of ¥ 100 each
at 5% premium, redeemable at a premium of 10% after 3 years.

The total interest due on debentures for the year ending 315t March, 2023
will be :

(a) ¥ 40,000 (b) ¥ 25,000
(c) < 50,000 (d ¥ 75,000

‘Loss on Issue of Debentures Account’ will be debited by which of the
following amount ?

(a) ¥ 75,000 (b) ¥ 40,000
(c) < 50,000 (d ¥ 25,000

In which of the following cases is the business of a firm not dissolved by
court ?

(a)  When a partner becomes insane

(b)  With the consent of all the partners

(c) When a partner becomes permanently incapable of performing his
duties as a partner

(d)  When a partner is guilty of misconduct which is likely to adversely
affect the business of the firm

~~~~ Page 13 P.T.O.



16. %, TH AT TH Teh BH H HISER & qAT 1:2: 3 % IJId H ATH-FIH Sied
9 | 31.03.2022 HI T HaTgd & T | TH o HATHIT B W BH ok fEfd

faatr # &R &gfaqfd ®¥ § T 45,000 1 A9 o1 | 39 fafy T FWR
&g T hIs ST STH a1 B3 T |
@’ & FaIER W SR Affd BIY o oRgiehd <l STTEREeh UsHTEET

gfefee ?ﬂﬁ : 1
TSATH=T
forem EILRYR SLIRUR
T T
(a) Eo R ciRCIGl EIL| 15,000
T 1 Gt @ amH 15,000
@ =1 ISl @ amH 15,000
HIER &gl Y @ 45,000
(b) HIR Afgfd SN @@ W 45,000
& 1 ISl @ 15,000
‘T 1 gt @ 15,000
T 1 S @ 15,000
(c) HIFTR &faqfd Y Gl am 45,000
& 1 ISl @ 7,500
‘T 1 gt @rarn 15,000
T 1 S @ 22,500
() & 1 gt @ EIL] 7,500
‘T 1 gt @A ElL| 15,000
‘@ 1 ISl @ qm 22,500
IR &dqfd i Gl 45,000

17. (%) fosm, fSrom qon @ © BH U WEER 9 91 2:2: 1% U H Al
1 fawTs a9 | BH AU JEaeh Jedeh 9 31 T i §g L ool B |
1 garg, 2022 %1 o 61 70y &1 12 | S 61 g wowd b e w1
AT T 3,00,000 TRAT TR T BH ok ATHT H Ideh WET I UM
o ad & a9 & YR W HE oft St T 6,00,000 AT |
e 1 g & @wy ETfd 91 TR o oW H O9E skl @ o fag
TSI SHETH= gfafseat hifvm | 3

HAAT

67/C/2 ~ Page 14



17.

67/C/2

K, L and M were partners in a firm sharing profits and losses in the ratio
of 1 :2:3. On 31.03.2022, M retired. On M’s retirement the Balance
Sheet of the firm showed a balance of ¥ 45,000 in Workmen’s
Compensation Fund. Till that date no claim for workmen compensation
was received.

The necessary journal entry for the treatment of Workmen’s

(a)

(b)

(c)

(d)

(a)

Compensation Fund on M’s retirement will be :
Journal
Debit Credit
Particulars Amount | Amount
< <
K’s Capital A/c Dr. 15,000
L’s Capital A/c Dr. 15,000
M’s Capital A/c Dr. 15,000
To Workmen’s Compensation Fund A/c 45,000
Workmen’s Compensation Fund A/c Dr. 45,000
To K’s Capital A/c 15,000
To L’s Capital Alc 15,000
To M’s Capital A/c 15,000
Workmen’s Compensation Fund A/c Dr. 45,000
To K’s Capital A/c 7,500
To L’s Capital A/c 15,000
To M’s Capital A/c 22,500
K’s Capital A/c Dr. 7,500
L’s Capital A/c Dr. 15,000
M’s Capital A/c Dr. 22,500
To Workmen’s Compensation Fund A/c 45,000
Nisha, Priya and Rajat were partners in a firm sharing profits in
the ratio of 2 : 2 : 1. The firm closes its books on 315t March every
year. Priya died on 15t July 2022. On Priya’s death, the goodwill of
the firm was valued at ¥ 3,00,000 and her share in the profits of
the firm till the time of her death was to be calculated on the basis
of previous year’s profit which was ¥ 6,00,000.
Pass necessary journal entries for the treatment of goodwill and
Priya’s share of profit at the time of her death.
OR
~~~~ Page 15 P.T.O.




18.

19.

67/C/2

(@)

It qT 99T Teh BH b TTHIER & AT 3 : 2 % UM H Y- Fied
g | ITeh! TRA ISt AR T 14,00,000 TAT T 10,00,000 off | AR
o | = w1 Jrage o

) Y W 10% 16 T | =1 |

(i) SR W 12% MY T F A |

31.03.2023 ! AT gC a9 H IAT 4 T 2,00,000 H1 qAT FA |
¥ 1,00,000 T STTEW foRAT | 31.03.2023 1 THH FT a9 o (¢ @A
TN L o 9P, 98 AG BAT fh Sl W A A& QA T R qA
TETT O TSl IR i e o 2 |

3O S fETult Sl TR €9 H GG g, 39 LG Wk MEA % o wH
I IEdehi H TERIeh UsHm=T Yfafsear i |

o qn 9 U BH H WEGR 9 q7 2:1%% UM H AH-gIH Sied o |
01.04.2022 ! I8H &N H % 9T % faw = 50,000 =HaH TRE o 1Y
‘SR’ I T T FIEIER SR | fY qAT R’ 9 UgA < UG § & died W
q ‘T @ TS MRS H gs TREl W T I 3:27% U@ H S |
31.03.2023 I HHTH gL Y & [T BH 61 Yg 9 T 3,00,000 T |

ST oFeAl o foiw Y qem Y i qEaeni H oTawdeh UsHmen wfafsear
hITTT, |

(%)

01.04.2021 =1 34 fdftes 3 wuar fafies i T 5,00,000 i T=fid,
T 3,00,000 T BATR T T 40,00,000 i qH TF W 1 A TRl |
304 A g & T 8,00,000 o fafaer Se w1 oft arfemrgor foman |
%I TdhA T 36,00,000 AT | HAA fAEE 1 T 100 TAF &+ 9%
FOGA S 10% e R FAifa ot Yae R T | 31.03.2022 W
FHro 7w AfUfRM, 2013 % IEEET % IER Foda R a2
gTd’ ohl IMfAIRgd i okl Ui fom |

S el & fou omm fdfiee it geawl # srawas AsHmEN
yafseat Hifv |

YT
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(b)  Sharma and Verma were partners in a firm sharing profits and
losses in the ratio of 3 : 2. Their fixed capitals were ¥ 14,00,000
and ¥ 10,00,000 respectively. The partnership deed provided for
the following :

) Interest on capital @ 10% per annum.
(i1))  Interest on drawings @ 12% per annum.

During the year ended 31.03.2023, Sharma withdrew ¥ 2,00,000
and Verma withdrew ¥ 1,00,000. After preparing the accounts for
the year ended 31.03.2023, it was realised that interest on capital

was not allowed and interest on drawings was not charged.

Showing your working notes clearly pass necessary journal entries

in the books of the firm to rectify the above error. 3

P and Q were partners in a firm sharing profits and losses in the ratio of
2:1. On 01.04.2022, they admitted R as a new partner for 1/10th share of
profits with a guaranteed minimum of ¥ 50,000. P and Q continued to
share profits as before but agreed to share any deficiency on account of
guarantee to R in the ratio of 3 : 2. The net profit of the firm for the year
ended 31.03.2023 was ¥ 3,00,000.

Pass necessary journal entries in the books of P and Q for the above

transactions. 3

(a) On 01.04.2021, Aman Ltd. purchased from Kamal Ltd. Machinery
¥ 5,00,000, Furniture ¥ 3,00,000 and Land and Building

T 40,00,000. It also took over the sundry creditors of Kamal Ltd. of
T 8,00,000. The purchase consideration was ¥ 36,00,000. Payment
to Kamal Ltd. was made by issue of 9% Debentures of ¥ 100 each

at a discount of 10%. On 31.03.2022, the company decided to write
off ‘Discount on Issue of Debentures Account’ according to the
provisions of Companies Act, 2013.

Pass necessary journal entries for the above transactions in the

books of Aman Ltd. 3
OR
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(@) 01.04.2021 ! s fafiee 7 =r@ ffies & T 17,00,000 < Af=4,
T 40,00,000 1 H T I T 6T AT | 38 $9h! T 7,00,000 FHi
caarsti w1 ot erfemrger fRAT | T 60,00,000 % A TTTHA HT YT
= R fRm T ;T 5,00,000 TH A HIEIW G qAT I T 100
Ak o 9% TN 1 10% Hiftem W frifta &t |
o9 fAfide 61 geaehl § IUYTH TGl o 0T Taweeh U= Yfafsear
i |

01.04.2022 = Ia, *fad o AT I HAM: T 6,00,000, T 6,00,000 TqAT
T 3,00,000 hT TARN S % A1 Th HEERT BH AT 6l | HEERT dor@ |
IE=RICPICIOR

(i)  10% 3Tfie @ & it | |
(i)  12% 1Y T G IEW W I |
(i)  3AfT = T 1,20,000 aTSh I |

(iv) ATH-ETH o1 fIWTSH 3ok Yoft 31gdTa W fopam S |

31.03.2023 I GHTH §T o¥ H ®H 1 Yg o9 T 3,08,000 o1 | WA *
JTE A AT @ U T 4,800, i T 4,200 q21 39 T 3,000,
31.03.2023 ! GHTH BT a9 % faw 9, wHfa don s1fa w1 ama faf=es
Qa1 IR I |

01.04.2022 &1 T fafies 7 < fafies & =we@™ =1 1fewgw T 10,50,000
* I Iaed & sed R SEH T 17,00,000 i foafay gfmrataar qen
T 6,00,000 1 AW aftifaa ot | & fafies =6t T 12,00,000 % 9% FTIH
% 3ifehd Yo W FHifa stk M feham TIT | 31.03.2023 i ‘TH fafies
ot AfGfRm, 2013 & TEEHT % ITHAR K09 0T g Hi Tufcifad e
o1 o foram |

ST THeAl o T ‘Te fafiees & gwasi #® oTEvas UsHm=T Sieisal

HIT |
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(b)  On 01.04.2021, Bain Ltd. purchased from Cayres Ltd., Machinery
at ¥ 17,00,000 and Land and Building at ¥ 40,00,000. It also took
over its liabilities amounting to ¥ 7,00,000. The purchase
consideration of ¥ 60,00,000 was paid as follows : ¥ 5,00,000
through a cheque and the balance by issue of 9% debentures of
T 100 each at a premium of 10%.

Pass necessary journal entries for the above transactions in the
books of Bain Ltd.

On 01.04.2022, Ravi, Kavi and Avi started a partnership firm with fixed
capitals of ¥ 6,00,000, ¥ 6,00,000 and ¥ 3,00,000 respectively. The
partnership deed provided for the following :

) Interest on capital @ 10% per annum.

(i1))  Interest on drawings @ 12% per annum.

(iii) An annual salary of ¥ 1,20,000 to Avi.

(iv)  Profits and losses were to be shared in the ratio of their capitals.
The net profit of the firm for the year ended 31.03.2023 was
T 3,08,000. Interest on partners’ drawings was Ravi ¥ 4,800, Kavi
T 4,200 and Avi T 3,000.

Prepare Profit and Loss Appropriation Account of Ravi, Kavi and Avi for
the year ended 31.03.2023.

On 01.04.2022, S Ltd. took over the business of T Ltd. consisting of
sundry assets of ¥ 17,00,000 and liabilities of ¥ 6,00,000 for a purchase
consideration of ¥ 10,50,000. Payment to T Ltd. was made by issue of
9% debentures of the face value of ¥ 12,00,000. On 31.03.2023, S Ltd.
decided to write off Discount on Issue of Debentures according to the

provisions of the Companies Act, 2013.

Pass necessary journal entries in the books of S Ltd. for the above

transactions.
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22, W, & qur I UH BH W AEIER I qA 3:5:2 % UM H AW-EIH Fied
9 | 31.03.2022 s 371 Tt feemor 1 yopm & ot

31 AT, 2022 @i =Y, Y qen € = fearfa fereron

"E\ & UST ﬁ ﬁ & Tlf[
IGEIALY 1,10,000 | W& 2.,00,000
gfed iy 60,000 | AR 3,00,000
IS ik 2,10,000
Ei| 3,00,000 G ALY 80,000
@ 2.,50,000 o 80,000
il 1,50,000 7,00,000
8,70,000 8,70,000

01.10.2022 I T H TF & T | W A g W WA H oA
T 1,87,500 Toham o1 | ERAREl % GO a1 <IAIST o AMERT ¥
T 10,000 I BT 8% | HrelGll Hoi@ H Yrag™ o o fopet ot @meier 6 9oy
X AT 1 TG BT @l @it T fopan Smom | 9eg <6 fafy @ & &

A <hl TUET T 70,000 HT TS |

WY W g W IFh MATGHI hl TEd B ok A€ H Y @ TR
HIT | I8 WHd 5T o6 97 o wwa & o Foargent =61 3eehl o TR & 1Y
T ST A qod L feam mam, Y & fsarespt 1 @ oft dar hifs |
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22. B, C and D were partners in a firm sharing profits and losses in the ratio

of 3:5:2.0n 31.03.2022 their Balance Sheet was as follows :

Balance Sheet of B, C and D as at 315t March, 2022

Liabilities Amount |\ ccets Amount
Creditors 1,10,000 | Building 2,00,000
Reserve Fund 60,000 | Machinery 3,00,000
Capitals : Stock 2,10,000
B 3,00,000 Debtors 80,000
C 2,50,000 Bank 80,000

D 1,50,000 | 7,00,000
8,70,000 8,70,000

C died on 01.10.2022. On C’s death, goodwill was valued at ¥ 1,87,500.
The revaluation of assets and reassessment of liabilities resulted into a
loss of ¥ 10,000. The partnership deed provided that on the death of a
partner, goodwill will be treated without opening goodwill account. C’s

share of profit till the date of his death was calculated at ¥ 70,000.

Prepare C’s Capital account to be presented to his executors at the time
of his death and also C’s Executor’s account, assuming that half the

amount due to him was paid immediately on C’s death. 4
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T g N wH BH H WECER 9 JA 3:2 % UM H AWM Sied o |
31.03.2022 ohl Il ®H b foered &1 T | 39 fafyr = v =1 feurfa faemo
g e g o .

31 WTE, 2022 W1 F dem &t <kt et fereror

. Tty . afsr
FCLIY - it itep] >
1] FaTd 5,70,000 | s 1,80,000
REarsicieay 10,30,000 | 3= =] wfEmaf=i | 820,000
I Tt giEr T 20,70,000

g 7,00,000 IEEIERCIGI] 30,000

il 8,00,000 | 15,00,000

31,00,000 31,00,000

3 9] IREHRRl ¥ T 8,00,000 A FY qAT TR qREERET qEehE

Hed W 9Yd g3 | HMe] SFArsl a1 drelepreia =ol, il sl e Iedsh qod |
10% %9 T TohaT TR | I =T T 4,000 9 |

SEEl WA JAT ATEIER o Y5 @Td IR HiT |

T feafaat | sroros & e <) STraees U= Tlasal it

(1)

(ii)

(iii)

T 100 T&% & 3000, 9% U] 1 FFTHT THed W T mm e
e T 15 T RO R 0 8 |

T 100 ¥ o 2000, 9% RUTGAT R AT 10% N 9t fomam mn
TorepT e 5% Wty W =T 3 |

T 75,00,000 % 9% IS T THT 10% 9 W foram T aert e
T T HET 7 |
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23. U and V were partners in a firm sharing profits and losses in the ratio of
3 : 2. On 31.03.2022 their firm was dissolved. On that date the Balance

Sheet of the firm was as follows :

Balance Sheet of U and V as at 315t March, 2022

A t A t
Liabilities T | Assets e
Current Liabilities 5,70,000 | Bank 1,80,000
Long Term Loan 10,30,000 | Other Current Assets 8,20,000
Capitals : Fixed Assets 20,70,000
U 7,00,000 Profit and Loss A/c 30,000
\Y 8,00,000 | 15,00,000
31,00,000 31,00,000

Other current assets realised ¥ 8,00,000 and fixed assets realised at the
book value. Both Current Liabilities and Long-term loan were settled at

10% less than the book value. Expenses on dissolution were I 4,000.

Prepare Realisation Account and Partners’ Capital Accounts. 6

24. Pass necessary journal entries for the issue of debentures in the following

cases : 6

(1) Issued 3000, 9% debentures of ¥ 100 each at par, redeemable at a
premium of ¥ 15 per debenture.

(i1)  Issued 2000, 9% debentures of ¥100 each at 10% premium and
redeemable at a premium of 5%.

(i11) Issued T 75,00,000, 9% debentures at 10% discount, redeemable at
par.
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25. (%) TWauw s B H GH¥ER I qAT 3 : 1 % UG H AY-FIH dfed
¥ | 31.03.2022 i k! Tl ferawor o=t wepm ot -
31 6T, 2022 1 T qor i = feafa feamon
37T 5 3,000 | 40,000
o fom 20,000 | ¥ 60,000
fafae e er 1,40,000 | 9T foret 70,000
W el 80,000 | TTER 1,00,000
i e : | ol
' % fotw yr@g™ 5,000 95,000
T 2,00,000 Bl 85,000
ot 3,00,000 |  5,00,000 | Fufi) 1,10,000
gy de W 2,83,000
7,43,000 7,43,000
3T fafer =t et | % 9T % T &Y 1 f Il W T T |eien
EEIRIRICI
(i)  © 1o gt % T T 2,00,000 TAT TG AW H ST9H W
% foTu = 1,60,000 AT |
(i) I & eI T 1,500 & TR AW |
(iii) ¥ 5,000 % CIGRI I TId RO o €9 H ARG TR ST
d Gfg TF A KON oh TEEH hl GIGRI & 10% oh &K @I
@ |
QHeATR @A ql |TEIGRT o Yol @Td dI) i |
Jrora
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(a)

A and B were partners in a firm sharing profits and losses in the

ratio of 3 : 1. On 31.03.2022, their Balance Sheet was as follows :

Balance Sheet of A and B as at 315t March, 2022

Liabilities AmOunt | 4 csets Amount

Outstanding Expenses 3,000 | Bank 40,000

Bills Payable 20,000 | Stock 60,000

Sundry Creditors 1,40,000 | Bills Receivable 70,000
General Reserve 80,000 | Debtors 1,00,000

Capitals : Less : Provision for

apials - doubtful Debts 5,000 | 95,000

A 2,00,000 Furniture 85,000

B 3,00,000 | 5,00,000 | Machinery 1,10,000

Land and Building 2,83,000

7,43,000 7,43,000

On the above date, C was admitted as a new partner for 1 share

in the profits on the following terms :

1) C will bring ¥ 2,00,000 as her capital and ¥ 1,60,000 as her

share of goodwill premium.
(i)

(iii)

Stock will be appreciated by < 1,500.

Debtors of ¥ 5,000 will be written off as bad debts and a
provision of 10% for bad and doubtful debts will be

maintained.
Prepare Revaluation Account and Partners’ Capital Accounts. 6
OR
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(@) &, @ qen A ud wH H AEER A AT 5: 3 : 2 JAIUM H ATH-FIH
died 9 | 31.03.2022 ki IehT fefa foramor fer wep o -
31 WT=l, 2022 &1 S, WY’ qen A = feafa feamm
. i N T
AL T T
TR 1,40,000 | S 1,44,000
M 9= 2.,00,000 | T 66,000
HITR &fagid iy 90,000 | TR 1,50,000
h ueT : gfay swon
) & fu gr@g™ 20,000 1,30,000
Eil 4,00,000 BT 70,000
i 2,00,000 R RIER 2,20,000
& 1,00,000 | 7,00,000 fty o e 5,00,000
11,30,000 11,30,000

S fafdr i S 1 Tl W wH | EariE e

(i)

(ii)
(iii)

(iv)

RO @Td H TAFEART o fedm T |

FeR 1 T 60,000 deh A TohaT STET |

QHEATR @A qT HIEIGRi % Yol @I dIR hiv |

R N N
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®H i T T qodohd T 3,60,000 foham ST@m aem 388 S 6
W <1 FHRISH ST QTdT @id fo=1 fomam Smam |

HITR &fagfd 1 T 1,00,000 ST Th ST TR T T |

S’ I T 20,000 HT YTAH TH =b AT AT T qAT I IFh




(b) B, P and T were partners in a firm sharing profits and losses in the

ratio of 5 : 3 : 2. On 31.03.2022, their Balance Sheet was as

follows :

Balance Sheet of B, P and T as at 315t March, 2022

A t A t
Liabilities T | Assets e
Creditors 1,40,000 | Bank 1,44,000
General Reserve 2,00,000 | Stock 66,000
Workmen’s 90,000 | Debtors 1,50,000
Compensation Fund
Less : Provision for
Capitals : Doubtful Debts 20,000 1,30,000
B 4,00,000 Furniture 70,000
P 2,00,000 Machinery 2,20,000
T 1,00,000 | 7,00,000
Land and Building 5,00,000
11,30,000 11,30,000

On the above date, B retired from the firm on the following terms :
(1) Goodwill of the firm will be valued at ¥ 3,60,000 and B’s

share will be adjusted without opening goodwill account.

(ii)

(iii)

compensation.

(iv)

Furniture will be reduced to T 60,000.
A claim of ¥ 1,00,000 was admitted for workmen’s

transferred to his loan account.

Prepare Revaluation Account and Partners’ Capital Accounts.

R N N
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(%)

)

o = e fafiee 9 T 10 I & 75,000 THAT 37M hl T 3 Uhd 31
& Tfiftrm w frifia @ & fow smeer smf=a feu |
T 1 YraH = TR & ¢ o ¢

AT W — T 2 Ui A

e W — T 6 Ut 3w (Hftrm afza)

| I W — T 3 Ul 37

fecfia wa <ifom = - 9w
1,20,000 371 % fIQ TG I T | 45,000 3= < T TG
T L fean man qen Srfafer Stees Uiyt anfum o &) 718 | 39 3Tregehi
gl amreed R feam | weft URwET ua g E, &, T ST @l
Brgt T T8 2000 Y & R o yow wa fgdfiw wa «ifaw ammn
T3 T YA & foham o |
ST THCAl o W IOl o Gl W HATERES UsHmET Fiatsaf

HIfT |

YT

frafafga feafeat @ oo &1 Seq w6 @ 3% [ i S W

AT UsiHH= gfafsear Hifs .

() H H fafe 3 T 10 79% % 10,000 3TN T Sed H T 54
W T 8 Ufd 3T AN T Y | T I W T 3 Ul AW A A&
TRT &1 T 3 Uid 370 shI JoH AT RN T YAH 81 Fopam T
o1 | 395 &, 2000 A I T 7 Ufd AW, T 8 Yed W YA: fnifia
=T fezm |

(i) it St fafiee 9 T 10 & & ia: Afad 2000 90 1 STed H
o =8 10% Siftem w frifia fRem mn o 3R 9 W/ sha@
T 3 ufd 37 s e TR UH g Al | W ", 500 FAT H!
T 11 9fd 319 got yed g: ifia s foam m |
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B
26. (a) CCL Ltd. invited applications for issuing 75,000 equity shares of

% 10 each at a premium of ¥ 3 per share.

The amount was payable as follows :
On Application — ¥ 2 per share
On Allotment — ¥ 6 per share (including premium)
On First Call — ¥ 3 per share

On Second and Final Call — Balance

Applications for 1,20,000 shares were received. Application for
45,000 shares were rejected and the excess application money was
refunded. Full allotment was made to remaining applicants. All
moneys due were received except for Harish, a shareholder holding
2000 shares, who failed to pay the first and second and final call

money.

Pass necessary journal entries for the above transactions in the

books of the company. 6
OR

(b) Pass necessary journal entries for the forfeiture and reissue of
shares in the following cases :

(1) CC Ltd. forfeited 10,000 shares of ¥ 10 each, ¥ 8 called up,
for non-payment of allotment money of ¥ 3 per share and
first call of ¥ 3 per share. Out of these, 2000 shares were
reissued for ¥ 7 per share, ¥ 8 paid up.

(i1)) GG Ltd. forfeited 2000 shares of ¥ 10 each fully called up,
issued at a premium of 10% on which only application
money of ¥ 3 per share was received. Out of these, 500

shares were re-issued at ¥ 11 per share, fully paid up. 6
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U @
oo - 1
(Ter<fiar feramott =1 fergeimoD)

(i) Tmfafed & 9 HE-A1 RO-SNgA Juar I 7§78 ?
(a) SIS STTERUT STTUTA
(b) TREY | g™
(c) Ru-fnfora el sruma
(d) P INEERT F RO LI

HAAAT
(i) TfRgd # ¥ HH-H TIIG HREGHAT ST HeaTd & ?
(a) ol LA
(b) UG Al TTATA
(c) AEd U

(d)  YYGEAT AT
G) fr=fafaa 4 @ s foxiia faewon & oo’ 1 o ge= @ 2
(a) oY qA1 g foreo b) feufa faem
(¢)  3Igura fagemo (d) I ()T (b)
YT

(ii) ;ﬁmmﬁ%ﬁ%wwm%%%,ﬁmwmm

(a)  100% (b)  30%
() 130% d  70%
TEITEH AR | g Uehs YaT8 hl T i o fou fefafea § @ fra 3g
1 | ST ST 8 2
(a) WTH A (b) Toxit @I
(c)  9ma fommn (d) 99 HHEHE

Yeohg YaT8 faeur IR st @9 ueh il foawes gra wefiad) o fasse 9 Uers
iftat frefafea @ 9 - afafafy aeh s 2

(a) Toaw nfafafy
(b)  T=TAA Tty
(c) Tocfim wfafarfe

() Trom wa focff wfafaty g1
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PART B
OPTION -1
(Analysis of Financial Statements)

) Which of the following is not a Solvency Ratio ?
(a) Interest Coverage Ratio
(b)  Return on Investment
(c) Debt to Capital Employed Ratio
(d)  Total Assets to Debt Ratio

OR
(i1))  Which of the following are known as Efficiency Ratios ?
(a)  Liquidity Ratios
(b)  Solvency Ratios
(c) Activity Ratios
(d)  Profitability Ratios

(1) Which of the following is a tool of ‘Analysis of Financial
Statements’ ?

(a) Statement of Profit and Loss (b) Balance Sheet

(c) Ratio Analysis (d) Both (a) and (b)
OR
(ii)  If the Operating Ratio of Pathway Ltd. is 30%, its Operating Profit
Ratio will be :
(a) 100% (b) 30%
(c) 130% (d) 70%

Which of the following is added back to net profit to calculate net cash
flow from operating activities ?

(a) Interest Received (b) Finance Cost

(e) Rent Received (d) Commission Received

‘Cash receipts from sale of machinery’ by a machinery dealer will be
considered which type of activity from the following while preparing Cash
Flow Statement ?

(a) Investing Activity

(b)  Operating Activity

(c) Financing Activity

(d) Both Investing and Financing Activity
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S Ul <t TUET < A § SFSHR gRT §8oh VN b1 T i hi Fmal
&1 frgier & & fore i St 7 ) UF foheal M STUTAl Sl UgETT Td 3
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(@) - W

(M) W A=
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T

(@) T =1 9 Wi TMad 1ATa shi TTUHT HINT :
AR T T 40,000
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fafafaa wedfe @ = ufer dan Ig$ R W for U Y & I
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MAT 9 TR sfea AeAT % F=ld B9 W gH §T Wl oH9d & fou uw
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feufa faao # feu U sekel e sAfafed =1 @ Fom wfafafesi @ Tes
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‘These ratios are calculated to determine the ability of the business to
service its debt in the long run.” Identify and state the significance of
three such ratios.

Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 :

(a) Computer Software

(b)  Work-in-Progress

(c) Calls in Advance

(a) The Current Ratio of J.C. Ltd. is 3 : 1. Its current liabilities are
T 2,00,000. The current assets include closing stock of ¥ 15,000
and prepaid insurance premium of ¥ 5,000.

Calculate its Quick Ratio.
OR

(b)  From the following information calculate Inventory Turnover
Ratio :

Stock in the beginning I 40,000
Stock at the end ¥ 20,000 more than in the beginning
Credit purchases ¥ 2,20,000

Revenue from operations ¥ 4,80,000

Read the following hypothetical text and answer the given questions on
this basis :

Shobha started a small enterprise selling hand-knitted sweaters under
‘Skill India Scheme’. As the business grew, the revenue started
increasing. On 15t April 2020, she decided to form ‘Shobha Ltd.” along
with twelve other like-minded persons. The Balance Sheet of Shobha Ltd.
as at 315t March, 2022, is given below.

From the figures given in the Balance Sheet and additional information,
calculate ‘Cash Flows from Investing Activities’ and ‘Cash Flows from
Financing Activities’.
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31 |, 2022 T AT ferfaee =t fearfa feramor

r— 31.3.2022 | 31.3.2021
T T
I - |HAT T Q@ ¢
1. Awar e
(%) |9ar 7 geft 8,00,000 6,00,000
(@) 499 @ Afes 2,00,000 50,000
2. A IATT
AefehTe 3T 4,00,000 3,00,000
3. =Te] ¢IATe
(%) IR & 40,000 45,000
(@) s Irfefaey 1,00,000 85,000
(1) 3TcYhIH JEL 30,000 20,000
k3 15,70,000 11,00,000
I1 - ufaraft
1. 3=a it
it afmmfaat
(i) Hd aferafat 6,00,000 5,00,000
(i) 3rd gREweR - 50,000
2. =T IREFET
(%) 6 5,00,000 4,00,000
(@) =M g 4,00,000 90,000
() Tshg T Ushg Ged 70,000 60,000
K3y 15,70,000 11,00,000
67/C/2 ~~~~ Page 34




Balance Sheet of SHOBHA Ltd. as at 315t March, 2022
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Particulars Note | 31.3.2022 | 31.3.2021
No. T T
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Equity Share Capital 8,00,000 6,00,000
(b) Reserves and Surplus 1 2,00,000 50,000
2. Non-Current Liabilities
Long-term Borrowings 2 4,00,000 3,00,000
3. Current Liabilities
(a) Trade Payables 40,000 45,000
(b) Bank Overdraft 1,00,000 85,000
(c) Short-term Provisions 3 30,000 20,000
Total 15,70,000 | 11,00,000
II - Assets :
1. Non-Current Assets
Fixed Assets
(1) Tangible Assets 4 6,00,000 | 5,00,000
(i1) Intangible Assets 5 50,000
2. Current Assets
(a) Inventories 5,00,000 4,00,000
(b) Trade Receivables 4,00,000 90,000
(c) Cash and Cash
Equivalents 70,000 60,000
Total 15,70,000 | 11,00,000
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27.

67/C/2

@ral & J1eE
qre - 31.3.2022 | 31.3.2021
9. T T
1 | 999 ua anfue
anfee s1gfq aw-E fRm HT AW | 200,000 50,000
2,00,000 50,000
9 | EreieRTe 3UR
10% >RUT9= 4,00,000 3,00,000
4,00,000 3,00,000
3 | TCURH JTaE™
ERSICLIE] 30,000 20,000
30,000 20,000
4 | 7 wfEataat
LRI 7,00,000 |  6,50,000
T : ThiA (Fferd) qedm@ (1,00,000) |  (1,50,000)
6,00,000 5,00,000
5 | 3Td qiEEfEl
Tt - 50,000
STfafEs T :

(i)

(i1)

(1)

(i1)

T 1,60,000 AN shl Teh WM sl T 20,000 <hl BT 9T <=M 721 | 99
% CNH T 40,000 ToIGH TR T |

Z 1,00,000, 10% o9 fHHTAT T 81.03.2022 <1 foham T o |

IR
e - II

(stfereRfer= TrETeA)

SR Qa1 99T A9 T &4 Gral 99 o U 3Tevares gfafseat s

STl

(a) R gfafeest

(c)  3ifay ufafseat
ST

St foreft widT

(b)
(d)

wTeﬁGr—r gfafseat
AT () TAT (b)

st e hI Rt gt e W wfafafy s S R,

aﬁagéaéaﬁsﬁdﬁﬁmﬁwﬁﬁmr@m%,ww%:

TsHIYE Tt Tey
fufsa 9 Tt

(a) W
(¢c) {Afed 9 ged

R N N

(b)
(d)
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Notes to Accounts :

Note Particulars 31.3.2022 | 31.3.2021
No. < T
1 Reserve and Surplus
Surplus i.e. Balance in Statement
of Profit and Loss 2,00,000 50,000
2,00,000 50,000
2 Long-term Borrowings
10% Debentures 4,00,000 3,00,000
4,00,000 3,00,000
3 Short-term Provisions
Provision for tax 30,000 20,000
30,000 20,000
4 | Tangible Assets
Machinery 7,00,000 6,50,000
Less : Accumulated Depreciation (1,00,000) | (1,50,000)
6,00,000 5,00,000
5 Intangible Assets
Goodwill - 50,000

Additional Information :

(1)

(ii)

27. (@)

(ii)

67/C/2

A piece of machinery costing ¥ 1,60,000 was sold at a loss of
¥ 20,000. Depreciation charged during the year amounted to
< 40,000.

T 1,00,000, 10% debentures were issued on 31.3.2022.

PART B
OPTION -11
(Computerised Accounting)

Entries required to make Trading account and Profit and Loss
account are known as :
(a)  Opening entries
(c) Closing entries

OR
A cell reference that holds either row or column constant when the
formula or function is copied to another location is known as :
(a) Range (b) Absolute cell reference
(c) Relative cell reference (d) Mixed cell reference

(b) Adjustment entries
(d) (a)and (b) both

R N N
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29.

30.

31.
32.

33.

34.

67/C/2

Th ST IS 3G hIg I HEHT Hdl & SR T 3 $8 Tor@i 8 foma
Gﬂ?ﬂ’%‘ﬂ%?:

(a) JAEl ! @I 3Nk feu I 8 |

(b) Tor@i ol faery 9 fu Sra # |

(c) Tl sl a9y TgshH § afeyd fopam Sran 7 |

(d) TS qT W I AR 3y ezt I B |

ot ® @i &1 goH i o e fefafaa #§ @ sF-an 8= w=m | @ S
g7

(a) 2t T e > R > A@ThT AT > WIAT > et

(b)  3f 1 T > AR > TRIThA YT > WAl > Fod

(c) it o1 ed > U > A@Th AT > QAT > JeuH

(d) o H IS > G > AR > TSE > TR o1 > Tl

(i) Y ¥ GaUd ST TR AN ITeh Hedeh i HRILhd T@hd af
T F=faiea gesnt # 9 o5 AW @ S STaT @ 2
(a)  HrEYUTA (b) ST
(c)  BIEAX (d) HFTR
3HUAT
(i) TfiRad & @ ®F-81 R Hiaw A«GT dfwrel & oI T I 37T AM
T AT B 2
(a) TR (AVG) (b) <A (TOTAL)
(¢) 9 (SUM) (d) TS (ADD)

HRYLIhA TRETRA a7 o & NI A Teh ATH 1 ool I |
feufa faawo @Tar w9g @ @rar T9g ko (qIArsti) i GHEST |

(%) Teflc W W Hd T HEFEL Hl Hhid W ‘Correct # N/A Error
fe@TE < o T HIU BId § ? ST UR H Than <11 Teha1 B 2
T
(@) TS = dIR Hd 9T foTw STH aTel =0l &l oot hIT |

39 ol Rl 1 9 Sd1d gY 30 GHIASY &R TN Wiel Yl Al U
G H IS h1 Hidl qod I Tqhd I 6 T fRam San 7, I8 74 5T
o5 =9 i @ wg aE R |
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29.

30.

31.

32.

33.

34.

67/C/2

A sequential code refers to code applied to some documents where :

(a)
(b)
(c)
(d)

account heads are assigned to documents.

special names are given to documents.

documents are arranged in special sequence.

numbers and letters are assigned in consecutive order.

Which of the following menu is used to create a ledger in Tally ?

(a)
(b)
(c)

(d)

(i)

(i1)

Gateway of Tally > Master > Accounting information > Ledger >
Alter

Gateway of Tally > Master > Accounting information > Ledger >
Create

Gateway of Tally > Master > Accounting information > Ledger >
Display

Gateway of Tally > Create > Master > Edit > Accounting
information > Ledger

Computer-related peripherals and their network is known as
which of the following components of Computerised Accounting
System ?

(a) Procedure (b) Data
(¢) Hardware (d) Software
OR

Which of the following functions automatically totals a column or
row of values ?

(a) AVG (b) TOTAL
(0 SUM (d) ADD

State two disadvantages and one advantage of Computerised Accounting
System.

Explain the Account group Loans (Liabilities) from Account group of
Balance Sheet.

(a)

(b)

What are the reasons if ‘Correct #N/A Error’ appears on the
computer screen while working on a spreadsheet ? How can it be
corrected ?

OR

State the steps to be taken in preparation of a chart.

Name and explain the financial function which will be used to know the
returns in today’s currency value of a series of future payments assuming
constant payments and rate of interest.
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Marking Scheme
Strictly Confidential (For Internal and Restricted use only)
Senior School Certificate Supplementary Examination, July 2023
SUBJECT NAME: ACCOUNTANCY (67/C/2)

General Instructions: -

1

'You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of the
candidates, education system and teaching profession. To avoid mistakes, it is requested that before

starting evaluation, you must read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could
lead to derailment of the examination system and affect the life and future of millions of candidates.
Sharing this policy/document to anyone, publishing in any magazine and printing in News

Paper/Website etc may invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for their correctness

otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers. These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own expression

and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first
day, to ensure that evaluation has been carried out as per the instructions given in the Marking Scheme. If
there is any variation, the same should be zero after deliberation and discussion. The remaining answer
books meant for evaluation shall be given only after ensuring that there is no significant variation in the

marking of individual evaluators.

Evaluators will mark ( V) wherever answer is correct. For wrong answer CROSS X be marked.
Evaluators will not put right (v') while evaluating which gives an impression that answer is correct and no

marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left- hand margin and encircled.

This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. This

may also be followed strictly.
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If a student has attempted an extra question, answer of the question deserving more marks should be

retained and the other answer scored out with a note “Extra Question”.

10

INo marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11

A full scale of marks (example 0 to 80/70/60/50/40/30 marks as given in Question Paper) has to be

used. Please do not hesitate to award full marks if the answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and
evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects (Details

are given in Spot Guidelines).

13

Ensure that you do not make the following common types of errors committed by the Examiner in the past:
®  Wrong totalling of marks awarded on an answer.
®  Wrong transfer of marks from the inside pages of the answer book to the title page.
®  Wrong question wise totalling on the title page.
® [ eaving answer or part thereof unassessed in an answer book.
®  Wrong totalling of marks of the two columns on the title page.
®  Wrong grand total.
®  Marks in words and figures not tallying/not same.
®  Wrong transfer of marks from the answer book to online award list.

®  Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly

and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)

®  Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14

While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as

cross (X) and awarded zero (0) Marks.

15

|Any unassessed portion, non-carrying over of marks to the title page, or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions be

followed meticulously and judiciously.

16

The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot

Evaluation” before starting the actual evaluation.

17

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page,

correctly totaled and written in figures and words.

18

The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again
reminded that they must ensure that evaluation is carried out strictly as per value points for each answer as

given in the Marking Scheme.
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67/C/2

Marking Scheme 2022-23 Compartment
Accountancy (055)
67/C/2

Expected Answers/ Value Points

Mark

1 | Q. 1. Assertion (A).......

Ans. (c) Both Assertion (A) and Reason (R) are correct, and Reason (R) is the correct explanation of

Assertion (A)

2 | Q. 2. (i) K.C. Ltd. took over ..........

Ans. (b) 740,000

OR

Q. (ii) Raja Ltd. purchased machinery..........

Ans. (d) %5,00,000

3 | Q.3.C,D and E were partners.........
1
Ans. (a) 2/5
4 | Q.4. X and Z were partners.........

Ans. (c) 330,000

5 | Q. 5. Josh and Jeevan were partners ..........

Ans. (c) 4 2 months

6 | Q. 6. After doing the adjustments regarding.........

Ans. (a) 34,84,000

7 | Q.7.On the dissolution of a partnership firm..........

Ans. (a) ¥45,000
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Q. 8. S and T were partners in a firm.........

Ans. (b) Credit 34,000
Q. 9. (i) C and D were partners in a firm.........
Ans. (a) 1:2
OR
Q. (ii) A, B and C were partners in a firm.........
Ans. (a) Gain 1/30
Q. 10. (i) B and D were partners............
Ans.
(b)
P & L Appropriation A/c Dr. 34,000
To Interest on B’s Capital A/c 34,000
OR
Q. (ii) K and L were partners ..............
Ans.
(c)
L’s Capital / Current A/c A/c 3900
To Interest on Drawings A/c X900
Q. 11. (i) A and B were partners........
Ans. (d) 1/6
OR

(i) P, Q and R were partners............

Ans. (a) 2/3
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Q. 12. (i) Persons who have entered.....
Ans. (a) Partners
OR

Q. (ii) Madhu and Radha were...........

Ans. (b) 32,400

Q. 13. The total interest due.........

Ans. (a) 340,000

Q. 14. ‘Loss on Issue of debentures Account’.........

Ans. (c) 350,000

Q. ’15. In which of the following cases.........

Ans. (b) With the consent of all partners.

Q. 16. K,L. and M were.........

Ans. (¢)

Particulars Debit

Amount ()

Credit
Amount ()

To K’s Capital A/c
To L’s Capital A/c
To M’s Capital A/c

Workmen’s Compensation Fund A/c Dr. 45,000

7,500
15,000
22,500

Q. 17. (a) Nisha, Priya and Rajat...........
Ans.
Books of Nisha, Priya and Rajat
Journal
L.F | Debit Credit
Date Particulars Amount | Amount
Q) Q)

29




2022 Nisha’s Capital A/c 80,000
July 1 Rajat’s Capital A/c 40,000
To Priya’s Capital A/c 1,20,000
(Being Priya’s share of goodwill adjusted into
the accounts of Nisha and Rajat)
”? Profit & Loss Suspense A/c Dr. 60,000
To Priya’s Capital A/c 60,000
(Being Priya’s share of profit till the time of her
death credited to her capital A/c)
OR
Q. (b) Sharma and Verma.................
Books of Sharma and Verma
Journal
Date Particulars LF Dr. Cr.
Amount Amount
® ®
P & L Adjustment A/c 2,40,000
To Sharma’s Current A/c 1,40,000
To Verma’s Current A/c 1,00,000
(Interest on Capital transferred to P & L Adjustment
Alc)
Sharma’s Current A/c 12,000
Verma’s Current A/c 6,000
To P & L Adjustment A/c 18,000
(Interest on Drawings transferred to P & L Adjustment
Alc)
Sharma’s Current A/c 1,33,200
Verma’s Current A/c 88,800
To P & L Adjustment A/c 2,22,000
(Loss on adjustment transferred to Partners’ Capital
accounts)
Alternative Answer:

1%

1%

marks

OR

marks
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Books of Sharma and Verma

Journal
Date Particulars LF Dr. Cr.
Amount Amount
® Q)
Sharma’s Current A/c Dr. 5,200
To Verma’s Current A/c 5,200 1
(Being Interest on capital and Interest on drawings
omitted, now rectified)
+
Working Notes:
Particulars Cr. Dr
Interest Interest Dr.
on Capital on Drawings Profits Net Effect
Q) Q) ) Q)
Dr. Cr. 2
Sharma 1,40,000 12,000 1,33,200 5,200 -
Verma 1,00,000 6,000 88,800 - 5,200 =
2,40,000 18,000 2,22,000 5,200 5,200 3
marks
Q. 18. P and Q were partners..........
Ans.
Books of P, Q and R
Journal
Date L.F| Debit Credit
Particulars Amount | Amount
Q) Q)
2022 | Profit & Loss A/c Dr. 3,00,000
Apr To Profit & Loss Appropriation A/c 3,00,000 1
1 (Being profit transferred from Profit & Loss A/c to Profit &
Loss Appropriation A/c)
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” Profit & Loss Appropriation A/c  Dr. 3,00,000
To P’s Capital A/c 1,80,000
To Q’s Capital A/c 90,000 1
To R’s Capital A/c 30,000
(Being Net profit distributed among the partners)
” P’s Capital A/c 12,000
Q’s Capital A/c 8,000 1
To R’s Capital A/c 20,000 =
(Being adjustment of guaranteed amount to R) 3
marks
Q. 19. (a) On 01.04.2021, Aman Ltd. purchased.............
Ans.
Books of Aman Ltd.
Journal
L.F Debit Credit
Date Particulars Amount | Amount
Q) Q)
2021 Machinery A/c Dr. 5,00,000
April 1 Furniture A/c Dr. 3,00,000
Land and Building A/c Dr. 40,00,000
To Sundry Creditors A/c 8,00,000 1
To Capital Reserve A/c 4,00,000
To Kamal Ltd. A/c 36,00,000
(Being assets and liabilities acquired from
Kamal Ltd.)
Kamal Ltd. A/c Dr. 36,00,000
Discount/Loss on issue of Debentures A/c Dr. 4,00,000
To 9% Debentures A/c 40,00,000
(Being Kamal Ltd. paid by issue of debentures 1
at a discount)
2022
Mar 31 Statement of Profit and Loss Dr. 4,00,000
To Discount/Loss on issue of Debentures A/c 4,00,000 1
(Being Discount/Loss on issue of Debentures =
A/c written off) 3
marks
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OR OR
Q. (b) On 01.04.2021, Bain Ltd. purchased.............
Books of Bain Ltd.
Journal
L.F Debit Credit
Date Particulars Amount | Amount
) Q)
2021 Machinery A/c Dr. 17,00,000
April | Land and Building A/c Dr. 40,00,000 1
1 Goodwill A/c Dr. 10,00,000
To Liabilities A/c 7,00,000
To Cayres Ltd. A/c 60,00,000
(Being assets and liabilities acquired from Cayres Ltd.)
Cayres Ltd. A/c Dr. 5,00,000
To Bank A/c 5,00,000 1
(Being Kamal Ltd. paid partly by a cheque)
Cayres Ltd. A/c Dr. 55,00,000
To 9% Debentures A/c 50,00,000
To Securities Premium A/c/ 5,00,000 1
Securities Premium Reserve A/c
(Being balance amount of Cayres Ltd. paid by issue of debentures
at a premium) =
3
marks
Q. 20. On 01.04.2022, Ravi, Kavi and Avi..........
Ans.
Profit and Loss Appropriation A/c
for the year ended 31.3.2023
Dr. Cr.
Particulars Amount Particulars Amount
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Q) )
To Partners’ Current A/c’s- By Profit & Loss A/c 3,08,000
Interest on capital (Net Profit)
Ravi 60,000
Kavi 60,000 By Partners’ Current A /c’s-
Avi 30,000 1,50,000 | Interest on drawings |V
Ravi 4,800
Kavi 4,200 3
To Avi’s Current A/c’s- Avi 3,000 12,000 marks
Salary VA 1,20,000
To Partners’ Current A/c’s-
Divisible Profit
Ravi 20,000
Kavi 20,000
Avi 10,000 50,000
3,20,000 3,20,000
Q. 21. On 01.04.2022, S Ltd.....cccoceuvennnnnne
Ans.
Books of S Ltd.
Journal
L.F Debit Credit
Date Particulars Amount | Amount
) Q)
01.04.2022 | Sundry Assets A/c Dr 17,00,000
To Sundry Liabilities A/c 6,00,000
To T Ltd. 10,50,000 2
To Capital Reserve A/c 50,000
(Purchase of Assets and taking over liabilities of
TLtd.)
T Ltd. Dr 10,50,000
Discount/Loss on Issue of Debentures A/c Dr 1,50,000 1
To 9% Debentures A/c 12,00,000
(Issue of 9%Debentures at a discount )
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Statement of Profit & Loss Dr 1,50,000 1
To Discount on Issue of Debentures A/c 1,50,000 =
(Discount/loss on issue of debentures written off) 4
marks
Q. 22. B, C and D were partners........
Ans.
Dr. C’s Capital A/c Cr.
Particulars Amount Particulars Amount
Z 4
To Revaluation A/c 5,000 | By Balance b/d 2,50,000
To C’s Executor’s A/c 4,38,750 | By Reserve Fund 30,000 2x6
By B’s Capital A/c(goodwill) 56,250 =
By D’s Capital A/c(goodwill) 37,500 3
By P&L Suspense A/c 70,000 | | marks
4,43,750 4,43,750
(Note: No marks for balance b/d)
Dr. C’s Executors A/c Cr.
Particulars Amount Particulars Amount
4 Z
To Bank Alc... 2,19,375 | By C’s Capital A/c 4,38,750
To C’s Executor’s Loan A/c... 2,19,375 !
mark
438,750 438,750 B
4
marks

Q. 23. U and V were partners in a firm

Ans.

ooooooo

ooooooooooooooo
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Dr. Realisation A/c Cr.
Particulars Amount Particulars Amount
R R
To Other Current Assetsﬁ/c> 8,20,000 | By Current Liabilities A/c } *4) 5,70,000
To Fixed Assets A/c 20,70,000 | By Long term Loan A/c 10,30,000
(%)
To Bank A/c ByBank A/c ............... 0]
Current Liabilities 5,13,000 Other current Assets 8,00,000}
Long Term Loan 9,27.00 14,40,000 | Fixed assets 20,70,000 28,70,000
@
ToBank A/c ............ %) 4,000 4
(Dissolution Expenses) marks
To Gain on Realisation
transferred to............... %)
U’s Capital A/c 81,600 +
V’s Capital A/c 54,400 1,36,000
44,70,000 44,70,000
Dr. Partners’ Capital Accounts Cr.
Particulars U A\ Particulars U \Y
R 4 4 4
ToP &L Alc 18,000 12,000 | By balance b/d 7,00,000 8,00,000
To Bank A/c 7,63,600 | 8,42,400 | By Realisation A/c 81,600 54,400 | | x4
7,81,600 8,54,400 7,81,600 8,54,400 2
marks
4+2
6
marks
Q. 24. Pass necessary journal entries...........
Ans.
JOURNAL
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Date

Particulars

LF

Dr.

Amount

®

Cr.

Amount

®

(1)

Bank A/c Dr.

To Debenture Application and Allotment A/c

(Application money on 9% Debentures received)

Debenture Application and Allotment A/c Dr.
Loss on Issue of Debentures A/c Dr.
To 9% Debentures A/c
To Premium on Redemption of debentures A/c
(Debentures application money transferred to 9%

Debentures A/c)

(i)
Bank A/c Dr.
To Debenture Application and Allotment A/c

ication money on 10% Debentures receive
Applicati y on 10% Deb ived)

Debenture Application and Allotment A/c Dr. Loss

on issue of Debentures A/c Dr.
To 9% Debentures A/c
To Securities Premium Reserve A/c/ Securities
Premium A/c
To Premium on Redemption of debentures A/c
(Debentures application money transferred to 9%

Debentures A/c)

(iii)
Bank A/c Dr.
To Debenture Application and Allotment A/c

(Application money on 8% Debentures received)

Debenture Application and Allotment A/c Dr.
Discount/Loss on issue of Debentures A/c  Dr.

To 9% Debentures A/c

(Debentures application money transferred to 8%

Debentures A/c)

3,00,000

3,00,000
45,000

2,20,000

2,20,000
10,000

67,50,000

67,50,000
7,50,000

3,00,000

3,00,000

45,000

2,20,000

20,00,000

20,000
10,000

67,50,000

75,00,000

1x6

marks

Q. 25. (a) A and B were partners in a firm.........
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Ans. (a)

Dr. Revaluation A/c Cr.
Particulars Amount Amount
Particulars
) ®?)
To Provision for doubtful debts 9,500 | By Stock A/c 1,500
Alc
By Loss transferred to Partners’
Capital A/c
A 26,000 8,000
B 32,000
9,500 9,500
Dr. Partners’ Capital Accounts Cr.
Particulars A B C Particulars A B C
4 4 4 4 4 4
To Revaluation By balance b/d 2,00,000 | 3,00,000 | -
Alc...... 6,000 | 2,000 | -
By Bank A/c.. - - | 2,00,000
To balance
c/d.. .. 3,74,000 | 3,58,000 | 2,00,000 | By General
Reserve Alc.. 60,000 | 20,000 -
By premium for
goodwill A/c.. 1,20,000 | 40,000 -
3,80,000 | 3,60,000 | 2,00,000 3,80,000 | 3,60,000 | 2,00,000
OR
Q. (b) B, P and T were partners in a firm...........

nx3

1%

marks

4%

marks

marks

OR
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Dr. Revaluation A/c Cr.
Particulars Amount Amount
Particulars
Q) Q)
To Furniture A/c 10,000 | By Loss transferred to Partners’
To Workmen’s Compensation 10,000 | Capital A/c
Claim A/c B 10,000 nx3
P 36,000 =
B 34,000 20,000 1%
marks
20,000 20,000
Dr. Partners’ Capital Accounts Cr.
Particulars B P T Particulars B P T
4 4 4 4 4 4
To Revaluation 10,000 6,000 4,000 | By balance b/d 4,00,000 | 2,00,000 | 1,00,0000
Alc
By General Reserve
To B’s Capital - | 1,08,000 | 72,000 | A/c 1,00,000 | 60,000 40,000
Alc
2x9
To Bank A/c 20,000 - - | By P’s Capital A/c 1,08,000 - - _
4%
To B’s Loan A/c | 6,50,000 - - | By T’s Capital A/c 72,000 marks
To balance c¢/d - | 1,46,000 64,000 ;
6,80,000 | 2,60,000 | 1,40,000 6,80,000 | 2,60,000 | 1,40,000 marks
Q. 26. (a) CCL Ltd. invited applications......
Ans.
Books of CCL Ltd.

Journal
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Date

Particulars

LF

Debit

Amount

®)

Credit

Amount

Q)

Bank A/c Dr.
To Equity Share Application A/c
(Application money received on 1,20,000 shares)

Equity Share Application A/c Dr.
To Equity Share Capital A/c
To Bank A/c
(Application money transferred to Equity share capital A/c and money

refunded on rejected applications)

Equity Share Allotment A/c Dr.
To Equity Share Capital A/c
To Securities Premium A/c/
Securities Premium Reserve A/c
(Amount due on allotment @26 per share including premium @33

per share)

Bank A/c Dr.
To Equity Share Allotment A/c

(Allotment money received)

2,40,000

2,40,000

4,50,000

4,50,000

2,40,000

1,50,000
90,000

2,25,000
2,25,000

4,50,000

Equity Share First Call A/c Dr.
To Equity Share Capital A/c
(Amount due on first and final call @33 per share)

2,25,000

2,25,000

Bank A/c Dr.
To Equity Share first call A/c

(First and final call money received except that of 2,000 shares)

Or
Bank A/c Dr.
Calls in Arrears A/c Dr.
To Equity Share first call A/c

(First call money received except that of 2,000 shares)

2,19,000

2,19,000
6,000

2,19,000

2,25,000

Equity Share Second Call A/c Dr.

1,50,000
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To Equity Share Capital A/c

(Amount due on second call @32 per share)

1,50,000

Bank A/c Dr. 1,46,000
To Equity Share Second Call A/c 1,46,000
(Second call money received except that of 2,000 shares)
Or
Bank A/c Dr. 1,46,000
Calls in Arrears A/c Dr. 4,000
To Equity Share second call A/c 1,50,000
(Second call money received except that of 2,000 shares)
OR
Q. (b) Pass necessary journal entries...........
Ans.
®
Books of CC Ltd.
Journal
L.F | Debit | Credit
Date | Particulars Amount | Amount
Q) Q)
Share Capital A/c Dr. 80,000
To Share Allotment A/c 30,000
To Share First Call A/c 30,000
To Forfeited Shares A/c 20,000
(Forfeiture of 10,000 shares for non payment of allotment and first call
money)
Or
Share Capital A/c Dr. 80,000
To Calls in Arrears A/c 60,000
To Forfeited Shares A/c 20,000
(Forfeiture of 10,000 shares for non payment of allotment and first call
money)
Bank A/c Dr. 14,000
Forfeited Shares A/c Dr. 2,000
To Share Capital A/c 16,000

marks

OR

1x3

marks
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(2,000 shares reissued for X7 per share, X8 paid up)

Forfeited Shares A/c Dr. 2,000
To Capital Reserve A/c 2,000
(Balance in Forfeited Shares A/c transferred to Capital Reserve)
(i)
Books of GG Ltd.
Journal
L.F | Debit | Credit
Date | Particulars Amount | Amount
Q) Q)
Share Capital A/c Dr. 20,000
Securities Premium A/c/ Dr. 2,000
Securities Premium Reserve A/c
To Calls in Arrears A/c 16,000
To Forfeited Shares A/c 6,000
(Forfeiture of 2,000 shares on which only application money was
received)
Bank Alc Dr. 5,500 bx3
To Share Capital A/c 5,000 N
To Securities Premium A/c/ 500 3
Securities Premium Reserve A/c marks
(500 shares reissued for 211 per share, fully paid up) 3;
Forfeited Shares A/c Dr. 1,500 -
To Capital Reserve A/c 1,500 6
(Balance in Forfeited Shares A/c transferred to Capital Reserve) marks
PART B
OPTION 1
Analysis of Financial Statements
Q. 27. (i) Which of the following is not a solvency ratio?
Ans. (b) Return on Investment.
OR 1
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(ii) Which of the following are known as efficiency ratios?

Ans. (c) Activity ratios

Q. 28. (i) Which of the following is a tool .....
Ans. (c) Ratio Analysis

OR
(ii) If the Operating ratio of Pathway Ltd.......

Ans. (d) 70%

Q. 29. Which of the following ..............

Ans. (b) Finance Cost

Q. 30. ‘Cash receipts from the sale of machinery’ .........

Ans. (b) Operating Activity

Q. 31. These ratios are calculated to determine the ability

Ans. Any three of the following Solvency Ratios.

oooooo

(1) Debt Equity Ratio means the relationship between long term debt and equity. It measures the degree of

indebtedness of an enterprise and gives an idea to the long term lender regarding the extent of security of the

debt.

(i1) Debt to Capital employed Ratio refers to the ratio of long erm debt to the total of external and internal

funds. It shows the proportion of long erm long term debt in capital employed.

(iii) Proprietary Ratio expresses relationship of proprietor’s funds to net assets. Higher proportion of

shareholders funds in financing the assets is appositive feature as it provides security to the creditors.

(iv) Total Assets to Debt Ratio measures the extent of the coverage of long term debts by assets. It indicates

the rate of external funds in financing the assets and the extent to which debts are covered by assets.

(v) Interest Coverage Ratio expresses the relationship between profits available for payment of interest and

1x3

marks
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the amount of interest payable. It reveals the number of times interest on long term debts is covered by the

profits available for interest.

Q. 32. Classify the following items....

Ans.
Item Major Head Sub Head
(a) | Computer Software Non Current Assets | Fixed Assets- Intangible
Or
Property, Plant & Equipment and Intangible Asset 72X 6
=3
(b) | Work in progress Current Assets Inventories marks
(c) | Calls in Advance Current liabilities Other Current liabilities
Note:
Full credit to be given for only writing Intangible Asset or Fixed Asset under the Sub head of (i)
Computer Software
Q. 33. (a) The Current Ratio of J.C. Ltd......
Ans.
(1) Current Ratio= Current ASSEtS .........ovvvvreeieineiirieieenneeneeanens, 1 mark
Current Liabilities
3/1 =Current ASSEtS  .....eviiiiiiiiiiiin e Y% mark
2,00,000
Current Assets= 6,00,000.........cciiiiiiiiiiiiii e Y5 mark 4
marks
Quick Ratio= QUICK ASSELS .....euuintintiet et ete ettt e eeaeeans 1 mark
Current Liabilities
Quick Assets= Current Assets- Stock- Prepaid insurance premium
= 6,00,000-(15,000+5,000)
=35,80,000.....ccciiiiii 5 mark
Quick Ratio= 5,80,000/2,00,000= 2.9:1.......ccviiriiiiiiiiiaiiannnn, 5 mark
OR OR
Q.33 (b) From the following information......

Ans. (b) Inventory Turnover Ratio(ITR) = Cost of Revenue from Operations/ Average Inventory ....1 mark
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Average = opening inventory + closing inventory

2 marks
Average Inventory= 40,000 + 60,000 =350,000 .........cccooeviiiniiiiiniinn... 1 mark
2
Cost of Revenue from operations= opening stock + purchases -closing stock
= 40,000 +2,20,000-60,000= %2,00,000...... 1 mark
ITR= 2,00,000/50,000=4 TimesS...........ceevvvnnn... 1 mark
Q. 34. Read the following hypothetical text....
Ans.
Dr. Machinery A/c Cr.
Particulars Amount () | Particulars Amount (3)
To Balance b/d 6,50,000 | By Accumulated
Depreciation A/c 90,000
To Bank A/c (purchase) 2,10,000 | By Bank A/c (sale) 50,000
By Statement of P/L (loss) 20,000 1
By Balance c/d 7,00,000
8,60,000 8,60,000
+
Dr. Accumulated Depreciation on Machinery A/c Cr.
Particulars Amount () | Particulars Amount (3)
To Machinery A/c 90,000 | By Balance b/d 1,50,000
To Balance c¢/d 1,00,000 | By Depreciation A/c 40,000 1
1,90,000 1,90,000
Cash Flow from Investing Activities
Particulars Amount (?) *
Purchase of Machinery (2,10,000)
Sale of Machinery 50,000
Net cash used in investing activities (1,60,000) 17
Cash Flow from Financing Activities "
Particulars Amount ()
Issue of Equity share capital 2,00,000
Issue of 10% Debentures 1,00,000
2%
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Interest Paid on 10% Debentures (30,000)
Bank Overdraft taken 15,000

Net cash generated from financing activities 2,85,000

marks

PART B
OPTION II

Computerised Accounting

Q. 27. (i) Entries required to make Trading account........

Ans. (c) Closing entries

OR

Q. (ii) A cell reference that holds..........

Ans. (b) Absolute cell reference

Q. 28. A sequential code refers to............

Ans. (d) numbers and letters are assigned in consecutive order.

Q. 29. Which of the following menu is used..........

Ans. (b) Gateway of Tally> Master >Accounting information > Ledger> Create

Q. 30. (i) Computer- related peripherals and their network.........

Ans. (c) Hardware

Q. (ii) Which of the following functions...........

Ans. (¢c) SUM

Q. 31. State two disadvantages ..........ccceeeneenee
Ans. Disadvantages of Computerised Accounting System (Any 2):-
i.  Faster obsolescence of technology necessitates investment in shorter period of time.
ii.  Data may be lost or corrupted due to power interruption.
iii.  Data is prone to hacking.

iv.  Unprogrammed and Unspecified reports cannot be generated.
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Advantages of Computerised Accounting System (Any 1):-
i.  Timely generation of reports and information in desired format.
ii.  Efficient record keeping.
iii.  Ensures effective control over the system.
iv.  Economy in the processing of accounting data.

Confidentiality of data is maintained.

Q. 32. Explain the Account group............

Ans. Following are the Account group Loans from Account group of Balance Sheet:-
(i) Bank Overdraft

(i) Secured Loans

(ii1) Unsecured Loans

1x3

marks

Q. 33. (a) What are the reasons if ..........

Ans. This error occurs when a value is not available to a function or formula.

(1) Missing data and #N/A or NAO has been entered in its place.

(i1) Giving an inappropriate value for lookup function as an argument, such function may be HLOOKUP,

VLOOKUP, MATCH or LOOKUP.

(iii) Using these lookup functions to locate the value in an unsorted table.

(iv)Using an argument in the array formula that is not in the same number of rows or columns as the range

that contains the array formula.

OR

Q. (b) State the steps to be taken in preparation of a chart.
Ans. Following steps are taken to prepare a chart:
(i)  Enter data in worksheet with proper column and row titles.
(i) Create a basic chart using the pattern from the panel available on top of the worksheet in
chart group option.
(iii)  Change the layout or style of chart.
o Apply pre-defined chart layout.
o Apply pre-defined style.
o Change layout of chart elements
. Change the format of the elements.
(iv)  Add or remove titles or data labels.

o Add (remove) axis titles.

1x4

marks

OR

2x 8

marks
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o Link a title to a worksheet cell.

o Add remove data labels.

(v)  Show or hide a legend.

(vi)  Display or hide chart axis or gridlines.
. Display (Hide) primary axes

. Display (Hide) secondary axes

. Display (Hide) gridlines.

(vii) More or resize a chart.

(viii) Save the chart.

Q. 34. Name and explain the financial function...........
Ans.
The name of the function is PV.

Its syntax is = PV(rate, nper, pmt, [fv], [Type])where

rate =is the interest rate per period.

nper =is the number of payment periods in an annuity.

pmt=The payment made in each period and cannot be changed over the life of annuity. Typically
pmt includes principal and interest but no other fees and taxes.

fv=is the future value, or cash balance to attain after the last payment is made .

Type=is the number 0 or 1 and indicates when payments are due. The fv and type arguments are

optional.
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